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(a) SRR HTEE

int a = 0;
if(a = 1)
{

cout << "here!'";
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int a = 0;
if(a = 0)
{

cout << '"here!'";
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int a = 0, b = 0;
a=b = 2;

cout << a << " " KK b + 4 << H\nn;
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#include <iostream>

using namespace std;

int main ()
{
int numl = 0, num2 = 0;

cout << "Please enter two numbers, "

<< "separated by a white space: ";

cin >> numl >> num?2;

if (numl > num2)

cout << "The larger one is " << numl;
if (numl < num2)

cout << "The larger one is " << num2;
if (numl == num?2)

cout << "The two are equal';

return O;
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